2EEEE FTLSEHR 20165098

FaAk HRERBIESAGFELS IATEER(—)E) 1 (BRI=%)
# i) — ® - # - - i — BOEHLY R
ih =3 &t AR ¥ RAAR - & FHR-ER | TOMKES
A B A B A B A B A B A B A B
2 E -50| -52| -89| -90|-107|-108| -89 | -9.1| -89 -9.1| -36| -40| -56| -57
1088 55| -55| -9.3| -93|-113|-11.3| -93| -93| -70( -70| -54( -54| -72| -72
AL 09 09| 02| 02| 43| -4.3 1.6 1.6 -1.9| -1.9| -1.2| -1.2| 2.1 -2.1
s -13.0 [ -13.0 | -10.6 | -10.6 | 5.1 | -5.1[-13.6|-13.6| —0.4| -0.4| -4.5| -45| 2.6 -2.6
W -3.4| -3.4| -7.5| -7.5|-12.2|-12.2] -7.0| -7.0| -1.4]| -1.4 2.2 22| -2.9] -2.9
i -5.7| -5.7|-10.8]-10.8 [ -12.2 | -12.2 | -10.7 | -10.7 [ -12.0 | -12.0| -6.6| -6.6| -8.9| -8.9
Eauy -10.9 | -10.9 | -12.4 | -12.4 1.5 1.5|-15.4|-154| -8.9| -8.9|-19.3|-19.3 | -16.0 | -16.0
IR -7.1| -7.1|-11.0]-11.0 [ -12.2 | -12.2 | -10.7 | -10.7 | -13.8 | -13.8 | -7.7| -7.7| -8.8| -8.8
N -7.3| -7.3|-12.8]-12.8 [ -16.8 | -16.8 | -12.0 | -12.0 [ -12.2 | -12.2 | -10.6 | -10.6 | -11.7 | -11.7
FEos) 5.6 -5.6| -7.4| -74|-13.1|-13.1| -7.6| -7.6| -9.2| -9.2| 179 17.9| -14.6 | -14.6
N 4.7 47] 21 2.1 89| 89| -09| -0.9| 13.1] 13.1 8.4 84| 11.8| 11.8
e e 9.1 -9.1|-15.7|-15.7|-19.2 [ -19.2 | -14.5 | -14.5 | -15.6 | -15.6 | -18.2 [ -18.2 [ -8.1| -8.1
1omsiomx| -40( -45| -80( -85| -89 -94| -83| -87|-122|-127| -12| -21| -08| -1.2
JeHgiE 43.6 | 43.6| 40.5| 40.5| 60.0| 60.0| 35.2| 35.2| 41.1| 41.1| 47.1| 47.1| 126.4 | 126.4
b -45| -5.2| -7.9| -85|-11.3[-12.0] 85| —9.0| -6.2| -6.7| -1.0| -1.9| 58| -6.7
BAIR -2.9| 40| 66| -76| -6.6| -7.4| -7.2| -8.1|-10.1|-11.3] -0.2] -2.1 1.5 08
s -6.0| -6.0 -9.8| -9.8|-14.9|-14.9|-11.4|-11.4|-17.9|-17.9| 24.2| 24.2| -3.3| -3.3
Pl 74| -7.4|-14.1|-14.1 | -18.7 | -18.7 | -12.8 | -12.8 [ -19.3 | -19.3 | -11.7 [ -11.7 | -9.7| -9.7
I -5.7| -5.7|-12.0|-12.0 [ -18.1 | -18.1 | -10.8 | -10.8 | -14.2 | -14.2 | -9.5| -9.5| -4.4| -4.4
t]ES] -10.4 [ -10.4 | -13.8 | -13.8 | -13.3 [ -13.3 [ -14.2 | -14.2 | -15.2 | -15.2 | -9.2| -9.2| -18.3 | -18.3
Ml 52| 5.2 -84| -84 -9.2| -9.2| -81| -8.1|-12.4|-12.4| -56| -5.6| -3.0| -3.0
A=[EH¥ERAE®R. B=A%wq
Faxk HWERAEEAFTELES (HEIFEER(—-)E) 2 (BRI=%)
¥ = X E A &
ih =3 it L ¥t & £ =f-B2E| ZTOMMEE 5 ® B EJ- ZOMRERS
A B A B A B A B A B A B A B A B
2 E -12| -13 6.2 61| -77| -717| -48| -52| -63| -65|-188-189 | 254 | 254 | -32| -3.4
1088 -14| -14 76 76| -86| 86| -67| -67| -75| -75|-223|-223| 369 | 369 | -40| -4.0
AL 3.1 3.1 84| 84| -1.0| -1.0| -6.0| -6.0| -0.2| -0.2| 43| 43|-41.3|-41.3| -1.8| -1.8
(= -3.1] -3.1 3.5 3.5 -7.4| -7.4] 0.0 0.0 3.3 3.3 6.4 6.4 5.9 5.9 5.0 5.0
HOR -0.4| 04| 86| 86| -76| -76| 55| 55| -9.2| -9.2|-250]-25.0| 23.9| 23.9| -5.8| -58
i -5.1| -5.1 2.1 2.1 -9.4| —9.4| -8.7| -8.7|-10.2-10.2-29.4|-29.4] 0.1 0.1 -2.4| 2.4
Eauy -7.2| -1.2 3.0 3.0|-15.3[-15.3| 85| -8.5|-21.4|-21.4|-39.3 | -39.3 | -50.6 | -50.6 | -10.3 | -10.3
IR 06| 06| 63| 63]|-12.1[-12.1| 3.6 3.6 1.7 1.7 -12.8]-12.8 1.7 1.7 80| 8.0
N -0.6| -0.6| 12.3] 12.3]-10.3|-10.3|-15.3 | -15.3 1.4 1.4 | -14.6 | -14.6 | 264.2 | 264.2 | -1.3| -1.3
il -0.5 | -0.5 4.2 4.2 0.6 06| -8.3| -83| -5.1| -5.1| 14.1| 14.1| 51.6| 51.6| -9.9[ -9.9
N -0.2| -0.2 3.4 34| -79| -79| 92| 92 5.6 56| -21.9[-21.9| 153 15.3] 26.0| 26.0
e e -0.1| -0.1 3.0 3.0 -25| -2.5| 5.0 -5.0|-13.3|-13.3| 4.9 49]|-74.2|-74.2]-19.7|-19.7
1o omE| -08 [ -1.2 28 24| -52| -52| -09| -23| -39 | -44|-103|-106| -19| -20| -16| -2.2
AeifgiE 423 42.3| 30.4( 30.4| 55.3| 55.3| 53.8| 53.8| 58.7| 58.7| 38.0| 38.0[543.2543.2| 62.9| 62.9
Ak 2.7 2.7 47| 47|-135|-136]| -3.3| -3.5| -5.7| 66| -6.4| -6.7| -7.7] -8.1| -53| -6.3
R 1.1 0.1 34| 27| 29| 29| 25| 04| -25| -3.6-135]|-14.3|-23.2|-23.4| 24 1.0
R -1.2] -1.2| -0.3]| 03| -1.5| -1.5] -2.3| -2.3|-10.1|-10.1 | -20.5 | -20.5 | -37.4 | -37.4 | -8.1| -8.1
blig -3.3| -3.3| -04| -04| -6.3| -6.3| 55| -5.5| -2.7| -2.7| -5.3| -5.3| 16.7]| 16.7| -5.7| -5.7
HE -2.9] -2.9 34| 34|-11.8]-11.8] 7.5 75| -3.5| -3.5]-10.7 [ -10.7 | -12.1 | -12.1 2.2 2.2
VY = -3.8| -3.8| 43| 43| -35| -35]|-188|-18.8| -9.3| -9.3| 47| 47| 11.5]| 11.5|-14.8]-14.8
Ml -6.1| 6.1 02| o02]-11.7|-11.7|-10.6 | -10.6 | -7.7| -7.7|-10.8|-10.8|-16.8]|-16.8| —6.0| -6.0
Faxk HWERAEEAFTELES (HEIFEER(—-)%E) 3 (BRI=%)
B & - .
oK i ERHAR 7 7 S TomaRn | Do RE yEA ol %
A B A B A B A B A B A B A B A B A B
2 E -24| -26| -40| -42| -44| -45| -25| -26 0.7 04| -57| -6.1 0.9 o5 -19| -19| -74| -15
1088t -22| -22| -30| -30| -48| -48| -3.1 | -3.1 1.8 18| -66| -66 0.5 05| -24| -2.4]-101 | -10.1
AL 25| 25 7.1 7.0 44| -44] 1.2 1.2 7.0 7.0 1.9 1.9 1.7 1.7 -2.3| -2.3| 14.7| 147
& -3.3] =33 09| 09 -5.1| -51| -3.7| -3.7| -44| 44| 15.2| 15.2| 26.2| 26.2|-73.9]-73.9|-68.7| -68.7
B 09| 09| -3.2| -3.2| 27| 2.7 -1.9| -1.9| 27| 27| -28]| -2.8| 40| 4.0 108] 108 —2.2| -2.2
i -0.7| 0.7 -2.1| -2.1| -3.1| -3.1 1.9 19 00| oo0f -1.8] -1.8| -3.0] -3.0| 66| -66| -5.6| -5.6
£l 2 -8.2| -8.2|-12.8]-12.8[-10.3|-10.3|-21.9 | -21.9| 13.7| 13.7| -6.5| -6.5|-25.7|-25.7| 12.3| 12.3| -8.4| -84
jrkl -4.3| 43| -44| -44| -78| -7.8] -3.9| -3.9| -09| -0.9|-202]-20.2| -2.0| -2.0| 55.1| 55.1[-15.2|-15.2
KR 3.9 -3.9| 42| -42| -42| 42| -16| -1.6| -6.8| -6.8]-11.2|-11.2| 29| 29 3.7 3.7 -5.2| -5.2
= -3.6| -3.6| -43| -43| -1.7| -1.7] -2.3| -2.3 1.5 15| -74| -74| -1.2| -1.2| 43.2| 432 -76| -7.6
Nz 139 139 62| 62| 40| 40| 23.3| 23.3[ 21.9| 21.9 1.8 1.8 -7.6| -7.6|-48.3|-48.3| -1.2| -1.2
e e -86| 86| -0.1| -0.1[-13.7|-13.7]| -5.9| -5.9|-12.0]-12.0-18.8]-18.8| 22| 22| 10.7]| 10.7[-19.8]-19.8
opmustomx| -27( -32| -54| -59| -36( 41| -13| -16| -11| -16| -38| -52 1.7 0.4 00| -02| -30]| -32
BBl 175( 175 87| 8.7 3.1 31 169| 16.9| 28.2| 28.2| 334 33.4| 17.8| 17.8| 15.1| 15.1|-26.8|-26.8
Ak 0.1 0.1 -3.8] -38 15| 15| 21 2.1 1.3 1.3 —2.0]-17.0 80| 8.0|-16.8]-16.9[-24.2| —24.4
R -3.2| 42| -12| -85 -1.7| 29| -03| -1.0| -29| 4.0 -3.7| -5.2| -1.0]| -3.0 -2.0| -25| -4.1| -4.5
HE 4.1 | -4.1| -3.7| -3.7|-10.8|-10.8]| -6.5| -6.5 5.0 50| 3.0 -3.0] 20.7| 20.7| -8.6| -8.6|-30.8|-30.8
i 46| -46| -36| -36| -6.1| —6.1| -4.3| -4.3| -48| -48| -39 -3.9| -2.3| -2.3 3.0 3.0 -16| -1.6
I -1.0] -1.0| -1.9] -1.9| 2.0 20| 09| 09| -05| -0.5| -1.8]| -1.8|-11.9]-11.9| 12.5| 12,5 3.9 3.9
DU -3.0| -3.0| -55| -55| -8.1| -8.1| -1.8| -1.8| 0.0]| 0.0|-15.0]-15.0-19.3]-19.3[-32.2|-32.2| -5.2| -5.2
Jul 2.2 -2.2| -69]| -69| -3.0] -3.0| 2.1 2.1 -13] -1.3| -45| -45| 21.3| 21.3] 12.0| 12.0| 8.6 8.6




